Living Environment

Unit 5: Where do babies come from?

Name___________________________________               
 
HW 26 : Meiosis 
Directions: Answer each question to the best of your ability.  Ask if you have questions.
1. The gamete for any species should always contain


(1) an even number of chromosomes

(3) twice the normal number of chromosomes


(2) the normal number of chromosomes

(4) half the normal number of chromosomes

2. Identify the process responsible for the production of new gamete cells ________________________


 The diagram below shows a process that affects chromosomes during meiosis.
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3. Identify the process shown in the picture above. _______________________________________

4. This process depicted above can be used to explain

(1) why some offspring are genetically identical to their parents 

(2) the process of differentiation in offspring 

(3) why some offspring physically resemble their parents 

(4) [image: image1.png]


 the origin of new combinations of traits in offspring
5. The diagram to the right represents structures found in a human female.

Which process results in the formation of structure X?

(1) mitosis

(2) recombination


(3) meiosis

(4) cloning

6. The process of meiotic cell division normally results in the production of


(1) four cells with half the number of chromosomes as the parent


(2) two cells with the same number of chromosomes as the parent


(3) four cells with only one chromosome from each parent


(4) one cell with a replicated set of matched chromosomes
7. The sorting and recombining of genes during meiosis and fertilization usually leads to the production of

(1) gametes with many copies of the same chromosome

(2) embryos with traits identical to those of all other members of the species

(3) zygotes with the genetic information to produce only females

(4) offspring with some traits that did not appear in their parents

8. A dogfish shark contains 24 chromosomes in each of its muscle cells.  How many chromosomes are normally found in each of its gametes?


(1) 6

(2) 12


(3) 24


(4) 48
 The diagram below represents a process involved in reproduction in some organisms.  Use this diagram to answer question 9 and 10. 
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9. The diagram to the right represents a cell undergoing a form of cell division.  Each line in the cell represents a chromosome, thus the normal number of chromosomes for this cell is 4. 

Which of the following best describes the process depicted?

(1) It shows DNA replication during mitosis

(2) It shows gene sorting during meiosis

(3) It shows recombination during mitosis

(4) It shows DNA replication during meiosis

10. Which of the following statements about the process above is true?

(1) mitosis produces new combinations of inheritable traits

(2) it increases the chances of DNA alterations in the parent

(3) it is a source of variation in the cells produced

(4) meiosis prevents recombination of lethal mutations

11. Comparing Mitosis and Meiosis:

Sperm/Egg Cells
Body Cells
46 chromosomes
23 chromosomes
2 daughter cells


4 daughter cells
Recombination
Cellular Division
Gamete
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Living Environment

Unit 5: Where do babies come from?

Name___________________________________               


HOMEWORK 26: Meiosis


1. Which statement correctly describes the genetic makeup of cells produced by meiosis? [1]

(1) Each cell has pairs of chromosomes and the cells are usually genetically identical.

(2) Each cell has pairs of chromosomes and the cells are usually genetically different.

(3) Each cell has half the normal number of chromosomes and the cells are usually genetically identical.

(4) Each cell has half the normal number of chromosomes and the cells are usually genetically different

2. All of the following processes lead to increased variation in offspring EXCEPT [1]

(1) sexual reproduction

(2) mitotic cell division

(3) gene sorting during meiosis

(4) recombination of genetic information

3. Which cell is normally produced as a direct result of meiosis? [1]

(1) a uterine cell having half the normal species number of chromosomes

(2) a sperm having the full species number of chromosomes

(3) a zygote having the full species number of chromosomes

(4) an egg having half the normal species number of chromosomes

4. The diagram below represents the genetic contents of cells before and after a specific reproductive process.  The parent cell originally contains 4 chromosomes. This process results in 4 daughter cells that each contain 2 chromosomes. 

Which of the following statements about this reproductive process is true? [1]

(1) it decreases the chance for new combinations of inheritable traits in a species 

(2) it creates zygotes containing a full set of genetic information

(3) it increases the chance of variations in offspring 

(4) creates new body cells for an organism

 Use the diagram below, which represents a human reproductive system, to answer questions 5 and 6 
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5. Meiosis occurs within structure [1]

(1) A

(2) B

(3) C

(4) D

6. Identify the structure you selected in question 5 ____________________________

7. Comparing Mitosis and Meiosis
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Meiosis





Mitosis





Part 1: Lesson Summary


On the lines below, summarize what you learned today in class about meiosis, gamete production, gene sorting, and recombination.  Be sure to use your notes, so that you include ALL that we learned today.  [4]


_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

















_1230435141

